
Life Expectancy, Health Care, and Economics

KIRBY R. CUNDIFF, Ph.D., CFA, CFP®

Associate Professor of Finance; Director of Financial Planning Programs  
Northeastern State University

Independent Institute Working Paper Number 76

November 8, 2010

100 Swan Way, Oakland, CA 94621-1428 • 510-632-1366 • Fax: 510-568-6040 • Email: info@independent.org • 
http://www.independent.org 



���������	
��	
������
�������������	�����	�

���
��	
��

7�������%�%���7���
�������
���3%����������������������%��������������������
�����!������������

������
����������
���������� �������������������!��������������������
��������������∗�����;������
���

)��������	��%��������������!���%�����<∗)	�=��7�
�������� �������������%��
�����!����%������

������!���������%�������>��������� ��������������%����������%�����%�������
�������������������������

��
�����������������∃�����
���3%������������
�∃���������������
������������������������
���������

:



���������	
��	
������
�������������	�����	�

��
����	
���

7�������%�%���7���
�����
���3%��������������� �������������������!��������������������
����������

����∗�����;������
���)��������	��%��������������!���%�����<∗)	�=������

��������
�������������

�%���������!������������������������
������������
�������!����������7�
�������� �������������%��
�����

!����%������������!���������%�������>��������� ��������������%����������%�����%�������
������������������

���������
�����������������∃�����
���3%������������
�∃���������������
����������������������

��
������������
�:((1�������
���3%���������
������!������ �����������������;������������∃���+/��������

4�%����������;����������������������
���3%���������
�����∗)	����
��������/:��������?
�#�������

6
������∃���������
������������������
���3%�����������+&���������?����������!������∃���
���3%��������

������������������������
�
����
�%������
�����������������������?��� �����������������
���������

��������������������������������
������3��%��	����������������������������������������������

��
��������������������������
�%��������%�����!���������������∃���������!������������≅���
�����������

����������������#��
�����������������
�����������!��������������������
��������������#������
�������

%������������
�����������<
��
���∋=��>��������� ��������������%����������%�����%�������
������������

���������������
�������������������������������������������
��������
����������������
������?���

%���������

������
���!�����������
�����������������������������
������������������
������

&



��
���
����������

?���������������
�%���������
����
����������
���������������#����<	�	��∋..∋=�������������

<Α�����:((2=������
������������������
��%�������������������������#����<Α������∋./1=����%�����!����

�����������∃���������!������?���������0������������
�������
�������������
%%������������������

�����
���������
�����������>��������
�������������#�������������!���������������∃������
���%������������

������������
�%��������%�����!���������������∃������
���%�������������
�������������������������������������

�����
�������

���!��
����������������!������������3��������
���������
�������

�����
���!��������

�����!�����������������������������
������6���������������>�����������<∋./1=������!���������

���������;�������������������������������������
���3%��������∃������������������������������������

�������������6
�����<∋.//=������!��������������������%������������������������������
�����∃�
��������

���������������Β
�������
���������������∗��
�����<:((&=��3��������
�!�!����������
��������%�����������

��!���%�����
��������������∃������������ �����������������������������������������
���������
��

%��
������������
�������
���������∃�����
���������������������?�����������
���!�������������%�����

<����������∋.+&=������������������
�������������
�������<��������∋.+∋=�������
�������������!��������

�����
�����������������������������
������������������������������������������������������Β
�������

���������<:((∋=�
�
����������!�������������
���������������������������������������!���������������

���������
�����∃����������������������������������Χ�
��
����������������<∋..∋=�
�
��������������

����

�
���!�������������!������������
�������������������������������������
�������
�����������!��������

�����!����������������������∃����������!������%����������������∃���∃�����∃���������������!����

��%�����������������?������
��������
�������������������������!�������!�������

�������������� ������

���������
����������������������
������������∃������
�����������

���������

,



 �
������!


Α
���%��������������������������
������������%�����
��������!���������������������Β
������� �∆�

��Ε3Ε��Φ����������!����
����������

����������Ε�����������0�������%���������������0��������������������������

������
���3%�������������
������������3������������%�������������
�����∗)	����
���������
���������
�����

%��3����7�∃��������3��������>�����������������%�������!������������������
����������Β
���������∆��3��

Φ���� � ��� ������� � �� � ������ � ���%�� � ���������� � ��������� � � �∗�� ��
 � ��� � ��Β
�������� � 
�� ��
���%���

��������������������������!������������������
�����Γ����%������Η�!����������3������������������������%�������

�
��������������>�����������������������������%������������������
������������������Α
���������������������

���%�������������������������7���!�������%������7������%��
���������������������������∃������ ���������

��
���3%������������������������� ������������������3����������
���������%�������!���������������� ������

�������������������

���������������������������������������������
���!��
���
����Ε����������
����������������������
�

��∃���������������
������∃����������
���������������0��������������������������

���������
����������������

�:���?����0��������������Β
�������������%��������!����������������������������
��������%����������������

��∃������
����������3�!��
����������%����������������!��
���?0������������������������:�1����������������

�����
�������������∋Ι����
���������!���������0�������������������������∋�.1���������������������
���������

����2Ι����
���������!���
������������%������?����:�!��
���������
���������
�����!����������
�������!��
��

���������3%��������������3�!��
��ϑ�����:�∆�∋���������������3����
��������: �∆�(��������������
���� �������

����
�������
�������������������������Χ����������<∋..∋=�

2



������	��������
�

7�������������
���3%��������<�������∋�����:=�����������!��������
�!����������!��������
�������

���������
����������������������	
����
���7����������������������
�����!����������������������

�������������#�
����
����������������%���������������������������������&���0������������
�������
�����

Γ����%�������!��������Η�������������������
���������#�����
���%��������������������������%��������

������������������������∋����
���3%�����������%�����!���������������∃����%�����%����������������

�%�������<
��
���:=����������!������������
�����������������
�����<
��
���&=��?����������������������

�����
����������������������
���������%�����%�����
���������

��Α�7�
����������	?������������?������#�

�
�����������������
������������ �������������������!�����������∗)	����
���������#�����������
�������

�������≅����∃���
���3%��������������!���������%�����<
��
���∋=��5�
���3%�����������%�����!���������������

∃��������%��������
��������������%������������������
��������%
��������������
��������������������������

�������������������
�������5�
���3%�����������������!���������������∃��������%��������
�������������

�%��������������������%�������
������������������������3%�����
��������������������
���������������

���������

�������������������������������������5�
���3%�����������������!���������������∃����%���

��%����������������
�%���������%�����!���������������∃����%�����%����������������
�%�������
��

���������
������������������%������������������������
�������5�
���3%�����������������!���������������∃����

�������������������������������������%�����
�����������������������������
�������<
��
���,=�������������

 ��������������������
��������������������������������������∗)	����
����������������#���������

�������≅��∃������%��������������
�������������∃���
���3%��������������!���������%������?���
��

������

�
���������������������∃���������������������������������
������

�������������

��������
�������

?�����:����∃���������
����
����
���%�����������������������
�����!�����������������������������

����%���������?�����2����∃�������������
�����Γ����%������Η�!������������������������∃����������������

�������������������%���������������������∃�������������������������
������������
���������%��3��
���

1



����������
�������?����∃��!���������������������∃���������
������������������
�����������%�����%����

�������������%���������������������?��� ��������������%�������������������������%�����%�������������

��������
�����������∃����������������������������������������������������������� �������������������
���

�������������%���������������������������������������
��������
�����������������
������

���	�����������∀��	������

7�������%�%���7���
�������
���3%��������������� �������������������!����������������������

��
��������������∗�����;������
���)��������	��%��������������!���%�����<∗)	�=��7�
�
������������

 �������������%��
�����!����%������������!���������%�������>��������� ��������������%����������%���

��%�������
���������������������������
�����������������∃�����
���3%�������������������������������

��
��������?������∃���
���3%�����������%����������
����������� ������������≅����#��
�������������

����
�����������!��������������������
����������������������������������

7���������������������������������%���������������������������!������������
�������������

����
�����<%�����%�����
�������
�����������
������Α�7�
���������=��
������������������������������������

������� ���������������?��� �����������������
�∃���������������
����������������
������
�����&(�

���������
��������
�����∗)	���7����
���3%���������������������� �������������������#���:∋����
���
�����

&(����������
��������
�����∗)	���7��%�����%�����
������
�%�������������� ����������#���:&�������%���

��%�����
������
��
��������������#���∋/�����������%�����%�����
������
���
����������������� ������

�������������#���:&����?�����������	?��������������Α�7�
���������������
��

���
������������������

��������������∃������
���������
������ ����������#���∋2������%�����%�����
������
�	?��������������+������

%�����%�����
������
�Α�7�
�����<
��
���∋=��

��%����������
����
���������

��������������� ������������≅��
���%����������������������
������

	����
�������
������%��������<	����
������:((2=<���;�������:((,=���

������������ ����%�������
������

+



���
�����������������%��������<������#��:((,=�������

���������������������Α����������������������

������%����������
���������#��%���������������<������∋..+=<	�
�����:((2=���
�����������������������
�

�������%��������������������%���
������%�%����>�������
���3%�����������%�����!���������������∃��������

%��������
��������������%������������������
��������%
��������������������������������������������������

�����
���������������%�%���������#����������������������������!���������
��!������%��!����������������

��������

�������	���

��������������������4���<∋.+&=��)

������������������!�������
���������!������
�	����������∋1<∋=��∋0

∋2�����−�∋(�∋((+9∀�(∋+∋//(:�

�������4����?��<∋..+������
����:&=��Κ����>��6�!������������������	�
���������!���
����

���%−99�������������9��9∋//,9�

	�
��������������<:((2��Α�����:=��Α��������������
�������������������������������������������

������!���
�������%−99∃∃∃�
�����������9��∃�9������9:((20(&0(:0������0��������Λ3����

	�	��<∋..∋������
����∋=�����#����������
���������������������������
�%�����������
������0 ������

�������∋../�������,(<,=��1:0+∋��������!���
����

���%−99∃∃∃�������!9��∃�9%��!��∃9��∃�����9((((∋//1����

	����
�������
���������������<:((2��Α���∋2=�������������
����������!���
���������%−99�

∃∃∃���������
��������9����9���������

������#���	����������<:((,��4
���:,=��∀
������������������
��	����������
���
���
����� �

��!�
 �

������!���
�������%−99∃∃∃���;��������9:((,&(9�������������9��
���9::1/&:0∋�����

���;��������	��5����<:((,����������=��	����
�������
�����������������������������!∀����#����∃��
�

������!���
�������%−99�∃∃∃�%�����������∃�����9��!��9∋:(,�����

Χ���������������<∋..∋=������
%����!����!�&�
%�����	����������Α���−�6��!���� ��!�������������

����������Α�������<:((∋��>�����=��6�∃�����
���������������������
�	���∋!
�%��
��������!�������

���%−99∃∃∃����%
����������������9�����!��9:((∋∃�����9�������∋�����

6��������������!��� �������>���������������

����<∋./1=��	����>����
��∀���
������#��!∃	�!��

(�
%!�	��)�������!��&∋,<+=��,,∋0,2��������!���
����

���%−99����������Ε�����9���9�������9��������9&∋,9+9,,∋

/

http://www.physiciansnews.com/cover/1204.html
file:///home/share/root/tmp/ http:// www.healthcouncil.org/need/need.html
file:///home/share/root/tmp/ http:// www.healthcouncil.org/need/need.html
http://www.usatoday.com/news/health/2005-03-02-doctor-shortage_x.htm
http://slate.msn.com/id/1884/


Α������������Κ���#��5��������Α����?�����������������Α�����������∀��#����5�∃���	���Μ�∀��#����������

Α���<:((2=��7������������
�∀����Α����7���������Χ�������������#���������������������7��������

	�������������������������������%�
	�
��!�∋∋∋��∋/+∋0∋/+1�����−�

∋(�∋∋1∋9(∋�	7��((((∋1∋.21�+2:22�+∀

Α�����������������������?��<∋./1=��Α����������������	���
�%���������	������������������������

������!��12<,=−�:,:0:1+��������!���
�������%−99∃∃∃����������������!9%
����9&2:&∋∋&

∗��
�������������5��<:((&=��7
�����∀
�������Α������
�Α��������7�����#��>���≅��������������������

>���≅������	
��Ν�∋!����!��!
���∗��#�/<:=��:+∋0:/&��������!��������

���%−99∃∃∃�����%����������9%
����������9���9����������%Ν�∆2&

∗�����;������
���)��������	��%��������������!���%�����<∗)	�=��<:((,�=����������	
����
��

������!��������

���%−99∃∃∃���������9���
����9∋19(�:&,(���Λ:/:2Λ,.21,:Λ:(/2:((Λ∋Λ∋Λ∋Λ∋�((�����

∗�����;������
���)��������	��%��������������!���%�����<∗)	�=��<:((,�=�����������������������

��������	
����
��������!���
����

���%−99∃∃∃���������9���
����9∋19(�:&,(���Λ:/:2Λ,.21,:Λ:(/2:((Λ∋Λ∋Λ∋Λ∋�((�����

∗�����;������
���)��������	��%��������������!���%�����<∗)	�=��<:((,�=��?�����)3%�����
�������

6������ΙΧ������������	
����
��������!���
����

���%−99∃∃∃���������9��������9∋&9∋&9&∋.1&,1.�3��

������������)���Χ�
��
�������Χ������������������4��<∋..∋=��Χ�!��������7����!����������6������	����

Α��#��������6������	����∗
������−������7�������������)!����������
��(�
%!�	�∋∋<∋=��∋0∋:��

������!���
�������%−99∃∃∃���������9%
��9Ε�
����9�Ε∋∋�∋9�Ε∋∋�∋0∋�%�


�������������%����Α�������6
��������Ο��<∋.//=��?���)

������
����
��������	��%�������������

∗∃������%����Α���������������������6��%�����7�%�����������#��!∃	�!��(�
%!�	��)�������!��&∋/<∋+=�

∋∋((0∋∋(+��������!���
�������%−99����������Ε�����9���9�������9��������9&∋/9∋+9∋∋((

���������Χ������4��<∋.+∋=��?���?�������
�)�����������
��������+�		�(�
%!�	��)����!�&�����!��

��!�∃�&�!
�����!����:<∋=��∋&+0,1��������!���
����

���%−99������������
����
���9
%����
����9:((.(,:+(2∋/,:&+,�%�


.

http://www.oecd.org/dataoecd/13/13/31963469.xls
http://www.oecd.org/document/16/0,2340,en_2825_495642_2085200_1_1_1_1,00.html


#∃�∃�#∃�������#%�∃#�&�∋ ���(��##�∋)��)�∗#�#

+
,�
�
��
�	��������������
�����−

������#�	
����������
���

#��!�����!������������
���

���������	
��	
�+���
����−���

∃�����. ∗�,���
��	��


+
,�
�
−

#����

+
,�
�
−

∋������
���� �/

∃�
�������
��

�����#������!

01230

+0.204−

5255.661

+3207−

/8 5231/3

9�
��	���������

����
�

072/8

+152.7−

528.58

+.216−

/8 5250/0

)����������

����
�

01270

+63267−

521.03

+3258−

/8 52/6./

�	�
�������:��� 002.4

+73275−

52.387

+5211−

/4 525501

 ���%��
� 06233

+..1246−

52/.00

+3251−

/4 52/6//

�∃�#	������ 06276

+...207−

5250/1

+/213−

/8 52.43/

;�9����	 07267

+/1257−

525/84/

+5205−

/8 525.06

;�

9�����	��
�	��

4/2/5

+672/1−

,52/10.

+,3205−

35 523/04

∃���		��

�������
���

4520/

+/4201−

,52.530

+,.25.−

/8 525366

��	���� 062.7

+11240−

52.416

+.2.5−

/8 5251/6

∋����

 08264

+60214−

,52./66

+,.261−

/8 525856

∋(



 ��
�������!������������
���

���������	
��	
�+���
����−���2

∃�����/ ������	���


+
,�
�
−

∋������
���� �/

∗�,���
��	��
 00263

+.6254−

/4 52100.

∃�
�������
��

�����#������!

5255.7.6

+32.4−

;�9����	 52556736

+52.4−

∃���		��

�������
���

,52547.

+,5248−

��	���� 52.530

+5250−

∋����

 ,52.756

+,/2.5−

������
,�
�
��
�	������<����������
=����������

∃�����

3

9�
��	���� )����� �	�
�������

:���

 ��� �∃� ;9����	 ;9���� ∃���		� ��	���� ∋����



#������! .2.5 3216 ,52.3 .271 524/ ,52/5 ,6258 ,.260 .278 5237

9�
��	���� 5288 5267 ,5250 ,5211 /258 ,520/ 52.6 /2.4 ,521/

)����� 5261 .2.. 5236 /253 ,1287 ,5245 .21. ,52.3

�	�
�

����

:���

/268 1255 /2/0 .2.6 .207 .205 ,.233

 ��� 824. 5261 ,.2/0 5246 ,5205 ,/268

�∃� 5203 ,5214 .2/6 ,52.6 ,/215

;9����	 52.4 ,52/. .23/ ,5240

;9���� 5260 ,5266 52.3

∃���		� 520/ ,.281

��	���� ,52./

∋∋



�<
��
���∋=�����<
��
���:=

∋:

���������	
��	
��
����
�����
���������
�����������������
������������������
���������� !!∀

��

��

��

��

��

��

��

��

��

� ���� ���� ���� ���� 	��� ����

��������

�
��
��
�
��

�	

�
�
	
 
���

#��∃�������
���%��#���
����
��
���∀!�&�∋(�������
��������
���)��∗

�

	

��

�	

��

�	

��

�	

�

�
��
��
��

�
���
�

���

��
��
��
�

��
��
��
�

��
��
��
��
 �
��
!��
�

∀
#�
∃�
��
��
∃�

�
���
�

���

%
&�
∃�
∃�

�
���
�

���

∋
�&
��
��
��
��
(
��
∃�

�
���
�

���

�
)
��

��
�∃
�

��
��
�

���

�
∗�
�
��
��
��
∃�

�
���
�

���

∋
!�
 #
 !
��
 �
∃&
+

�
� 
�

∗ 
,�
��
 �
�
 �
∃&
+

�
� 
�

−
,�
∃�
��



<
��
���&=�����<
��
���,=

∋&

���������	
��	
�����)(���

����)��∗�����
����

��

��

��

��

��

��

��

��

��

� 	 �� �	 �� �	 �� �	

)(���

�����	��
����+���
�������
����, �
�����&−�.�∀!∃�/∋ �

�
��
�
��
�
�
�
	

�
�
	


��
��
�
�

�
��
+
�
�
�

��
�
�
�
��

�
�
�


�

���������	
��	
�����∗�	
������������
�����)��∗�����
����

��

��

��

��

��

��

��

��

��

� ��	 � ��	 � ��	 � ��	 � ��	 	

∗�	
������������
�

�
��
��
�
��

�	

�
�
	



�



<
��
���2=

∋,

��������
��������������)��∗�����
����

�

����

����

����

����

	���

����

∋
&∃
���
!��

∋
&∃
���
�

�
��
��
�

�
.�
�#
�)
�

&,
!��

/
��
+
��
0

1�
�!
��
�

1�
��
��

2
��
+
��
�

2
��
��
�

3
&�
��
��

��
�!
��
�

���
!�
��

���
!�

4�

�
�

5
 �
��

�&
��
+
, 
&�
�

�
��
��
 

%
��
#�
�!�
��
∃

%
�6
�7
��
!�
��

%
 �
6
��

∀
 !
��
�

∀ 
��&
��
!

�
! 
8�
0�
)
�

&,
!��

�

�
��

�
6
��
��

�6
��.
��
!�
��

∗&
�0
��



��
��
��
5�
��
� 
+



��
��
��
��
��
�∃

�
�
�
�
�
��
�
��
�
�%
��
��
∗
�
��
�
��

∀��8���

∀&,!��




